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10.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK
THAT THISTEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES
OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

ENCODE CLEARLY THE TEST BOOKLET SERIES A, B, C OR D ASTHE CASE MAY BE IN THE
APPROPRIATE PLACE IN THE RESPONSE SHEET.
You have to enter your Roll Number on this Your Roll No.
Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet.
ThisBooklet contains 120 items (questions). Each item comprises four responses (answers). You will select
one response which you want to mark on the Response Sheet. In case you feel that there is more than one
correct response, mark the response which you consider the best. In any case, choose ONLY ONE response
for each item.

In case you find any discrepancy in this test booklet in any question(s) or the Responses, a written
representation explaining the details of such alleged discrepancy, be submitted within three days, indicating
the Question No(s) and the Test Booklet Series, in which the discrepancy is alleged. Representation not
received within time shall not be entertained at all.

You have to mark all your responses ONLY on the separate Response Sheet provided. See directionsin the
Response Sheet.

All itemscarry equal marks. Attempt ALL items. Your total markswill depend only onthe number of correct
responses marked by you in the Response Sheet.

Before you proceed to mark in the Response Sheet the response to various items in the Test Booklet, you
have to fill in some particulars in the Response Sheet as per instructions sent to you with your Admit Card
and Instructions.

While writing Centre, Subject and Roll No. on the top of the Response Sheet in appropriate boxes use
“ONLY BALL POINT PEN”.

After you have completed filling in all your responses on the Response Sheet and the examination has
concluded, you should hand over to the Invigilator only the Response Sheet. You are permitted to take away
with you the Test Booklet.
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1. Accounting rules, proceduresand methods should be observed aike and should not be changed
fromyear to year. Thisiscalled accounting convention of :
(A) Condggency (B) Full disclosure
(C) Consarvetion (D) Goingconcern

2. Theaccounting convention of matching means:
(A) Profitfor the salesto bematched with the salesrevenue
(B) Profitfor the period to be matched with theinvestment
(C) Expensesof aperiodto be matched with therevenue of the same period
(D) Partnersmust get equal sharein profit

3. Accordingto the money measurement concept thefollowing will berecorded in the books of

accounts:
(A) quality control inbusiness (B) commission payabletosdesman
(C) directorsand managersdiscussion (D) noneof these

4. Theconventionof conservatismimpliesthat :
(A) expected futurelosses must be provided for
(B) revenuemust not berecognised unlessitisaccrued
(C) both of theabove
(D) noneof these

5. Going concern assumption of accountingisalsoknown as:

(A) continuity assumption (B) monetary unit assumption
(C) accounting period assumption (D) noneof theabove
6. Whensharesareforfeited Share Capital Account will bedebited by :
(A) nomind vaueof shares (B) paid-upamount of shares
(C) calledupamount of shares (D) forfeited amount of shares
7. Afterreissueof forfeited sharethe balance of shareforfeited account will betransferredto:
(A) ShareCapital Account (B) Capital ReserveAccount
(C) Shareholder’sAccount (D) General ReserveAlc

8. ‘A’ and‘B’ arepartnerssharing profitsintheratio of 7:3. Cisadmitted for 3/7 shareinthe
profits. The new profitssharing ratio of the partnerswill be:

(A) 14:6:15 (B) 767
(C) 733 (D) 533
9. Intheevent of dissolution of apartnership firm, theprovision of doubtful debtistransferredto:
(A) RedisgionAlc (B) Partner’'sCapita Alc
(C) Sundry Debtor’sAlc (D) ProfitandLossA/c
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10. Liability of partnersfor firm'sdebtis:
(A) Joint (B) Separate
(C) Joint and separate (D) Noneof theabove
11. Assetsof thebusinessmeans:
(A) Lidbilities- capitd (B) Cash+ capita
(C) Liabilities+ capita (D) Capital +drawings
12. Whichof thefollowingisnot correctly matched ?
(A) Secured debentures- mortgage deed
(B) Rightsshare-Issuedto new shareholders
(C) Convertible- debentures
(D) Redeemable- preferenceshares
13. Revenueisgeneraly recognised asbeing earned a the point of time, when:
(A) Sdeiseffected (B) Productioniscomplete
(C) Cashisreceived (D) Infinancia year
14. Unlesswritten off, thelossonissue of debenturesisshown:
(A) Ontheasset sideof the balance sheet (B) Onthedebitsideof P& LA/c
(C) Noneof theabove (D) Both(A)and(B)
15. Incaseof admission of anew partner, theamount of goodwill brought inby himinthefirmis
shared by theold partners:
(A) intheirold profitssharingretio (B) intheratioof their capita
(C) inthersacrificingratio (D) inthenewratio
16. Whenall partnersareinsolvent thelossisborneby :
(A) Government (B) Employers
(C) Partners (D) All of theabove
17. Theowner of the businessistreated asacreditor for themoney invested by himis:
(A) Lostconcept (B) Money measurement concept
(C) Redisationconcept (D) Businessentity concept
18. Break even, means:
(A) Costsaremorethanrevenue (B) Revenuesand cost areequal
(C) Revenuesare morethan cost (D) Noneof theabove
19. Goodwill isa:
(A) Liquidasset (B) Fictitiousass=t
(C) Current asset (D) Intangibleasset
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Copyrightisa:
(A) Persond account (B) Red account
(C) Nomina account (D) Noneof theabove

Which of thefollowingisacurrent ligbility ?

(A) Debenture (B) Longtermloan
(C) Bank overdraft (D) Sharepremium
‘Garner VsMurray’ relatesto:

(A) DeficiencyAlc (B) Insolvency

(C) Contract (D) Hirepurchase
Current account isprepared under :

(A) Fixedcapita (B) Huctuating capitd
(C) None (D) Bothfixedandfluctuating
OnAdmission of apartner which account isnot prepared ?

(A) RedisaionAlc (B) DidributionAlc
(C) RevduationAlc (D) AdjustmentAlc

When agoodwill account israised at thetime of admission of anew partner then creditisgiven
totheold partnersintheir :

(A) Capitd ratio (B) Sacrificingretio

(C) Oldprofitsharingratio (D) Newratio

In case of an unregistered firm apartner cannot :

(A) getashareinprofit (B) getinterestonhiscapital
(C) fileasuitagainst another partner (D) getinterestonloan

Thebalance-sheetisonly :

(A) Anaccount (B) Asummary

(C) Adaement (D) Noneof theabove
Intangibleassetsusudly fall inthe category of :

(A) current assets (B) fixedassets

(C) semi fixed assets (D) noneof theabove

29. Whichoneof thefollowing isshownfirst whenthe assetsare arranged inthe order of their
liquidity ?
(A) Cashinhand (B) Debtors
(©) Investment (D) BR
ElJ-49855-A 5 [Turn over
{}

Downloaded From:http://iasexamportal.com



Downloaded From:http://iasexamportal.com

30. A company can purchaseitsown:

(A) Equity shares (B) Preferenceshares
(C) Debentures (D) Allof these
31. Amount set asideout of divisible profitsfor aspecific purposeand invested outsideisknown
as:
(A) Reserve (B) Fund
(C) Capital Reserve (D) Secret Reserve
32. Whilepreparing fundsflow statement anincreaseinworking capital isregarded as:
(A) applicationof funds (B) sourceof funds
(C) neither application nor source (D) both application aswell assource

33. Which of thefollowing isnot asource of funds?
(A) Issueof sharecapita
(B) Sdleof fixed assets
(C) Issueof bonusshares
(D) Issueof sharesfor consideration other than cash

34. Teemingandladingrelatesto:
(A) pilferageof stock
(B) misappropriation of cash
(C) fraudsrelating to thereceipt of money from debtors
(D) bribery of cashfor somebenefits

35. Intheabsenceof partnership deed, theinterest on capital will beprovided at % per
annum.
(A) 5% (B) will not beprovided
(C) 6% (D) 10%
36. Whenwe buy furniture on cash, we debit
(A) Cashaccount (B) Furnitureaccount
(C) Purchaseaccount (D) Noneof theabove

37. Whentwo or moreexisting companiesgo into liquidation and anew company isformed to take
over their business, thisactivity isknownas:

(A) Absorption (B) Interna reconstruction
(C) Externd reconsruction (D) Amdgamdtion
38. Theapplication money payableon ashare should not belessthan % of facevaueof
share.
(A) 5% (B) 10%
©) 25% (D) 15%
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‘A’ and ‘B’ weresharing profit of abusinessintheratio of 3:2. They admit * C’ into partnership,
who gets 1/3 of the shareof profitfrom*A’, 1/2 of shareof profit from*‘B’. What will bethe
new profit sharingratio ?

(A) 325 (B) 212

© 321 (D) 322

Which of thefollowing errorswill not affect thetrial balance?

(A) Goodsfor Rs. 300 purchased on cash, expenses account was debited instead of purchase
account

(B) Purchasereturnsbook for December wasovercast by Rs. 200

(C) Saleshook c/f Rs. 2200 instead of Rs. 2000

(D) Noneof theabove

Current ratio of afirmis2:1, which onewouldimprovetheratio ?

(A) topayacurrentliability

(B) toborrow money for ashort period

(C) purchasegoodsfor cash

(D) togiveaninterest bearing promissory noteto creditor in payment of thefull amount dueto

him
Acidtestratiois:
(A) Current assets: currentliabilities (B) Quick assets: current liabilities
(C) Totd asts: totd liabilities (D) Fixedassets: fixedlidbilities

Gearing ratio meansthefollowingratio:

(A) Longterm debt+ preference capital/net worth

(B) Longtermdebt/equity capital

(C) Longterm debt/ preference capita

(D) Longterm debt/equity capital + preference capital

If current assetsare Rs. 2,00,000, Stock Rs. 1,00,000 and working capital Rs. 1,20,000, then
thecurrentratiowill be:

(A) 251 (B) 1.25:1

(C) 2751 (D) 151

If thetotal assetsare Rs. 2,60,000, total debt Rs. 1,80,000, current liabilities Rs. 20,000, then
thedebt-equity ratiowill be:

(A) 41 (B) 31

©) 21 (D) 11

The cost of goods soldisRs. 50,000, the val ue of opening and closing stock isRs. 15,000 and
Rs. 25,000 respectively. Thestock turnover ratiowill be:

(A) 2times (B) 2.5times
(C) 3.3times (D) 1.25times
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Thecurrent ratio of afirmis5: 3. Itsnet working capital isRs. 20,000. Thevalueof itscurrent
assetswill be:

(A) Rs. 30,000 (B) Rs.50,000

(©) Rs. 20,000 (D) Rs. 60,000

If trade creditorsare Rs. 10,000, unpaid expenses 10% of creditorsand thereisno other
current liability, current ratio is2:1and stock isRs. 7,000, then quick assetswill be:

(A) Rs. 10,000 (B) Rs. 12,000

(©) Rs. 14,000 (D) Rs. 15,000

Liquidity ratiosareused :

(A) toassessthefinancial position of thefirm at apoint of time
(B) toevauatethe performanceof thefirm over aperiod of time
(C) tojudgeafirm’sability to meet short term obligations

(D) toassessthepresent and expected earningsof thefirm

If currentratiois2.5, quick ratiois 1.5 and the net working capital isRs. 15,000, thevalue of
inventory will be:

(A) Rs. 10,000 (B) Rs. 15,000

(©) Rs. 37,500 (D) Rs.52,500

Thecurrent ratio of afirmis2:1, which would reducetheratio :

(A) Topayacurrentliability

(B) Toborrow money for ashort period

(C) Topurchasegoodsfor cash

(D) Togiveaninterest bearing promissory noteto acreditor in payment of thefull amount due
tohim

ROl ratioiscal culated to measurethefollowing :

(A) Longtermsolvency of business

(B) Earning power of net assetsof business

(C) Shorttermliquidity position of business

(D) Therelationship between goodssold and inventory level

Statement (A) : Ratio analysisisanimportant tool of judging thefinancia soundnessof the
Company.

Statement (B) : Ratio aalysisisone of the guidesto aninvestor for deciding about investing or
not investing in acompany.

(A) Both (A) and (B) aretrueand (B) isthe correct explanation of (A)

(B) Both (A) and (B) aretrueand (B) isnot the correct explanation of (A)

(©) (A)istruebut (B)isfase

(D) Noneof theabove
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54. If earning price (EP) ratiois0.05 and Earnings per shareisRs. 8, the market price of share=:
(A) Rs.40 (B) Rs.100
(©) Rs.160 (D) Rs.0.40

55. Thedebt equity ratio of acompany for three consecutiveyearswasasfollows:
1989 - 399: 28
1990- 493: 34
1991 - 624 : 42
Theaboveratiosshow :
(A) That thecompany’sfinancia structureissound
(B) That thecompany iscapableof meetingitsshort termligbilities
(C) Thattheinterestsof creditorsarenot safein the company
(D) Thatthelongtermliquidity of thecompany isimproving fromyear to year

56. Whichof thefollowingis not alimitation of RatioAnalysis?
(A) Only quantitativefactorsare considered
(B) Notfreefrombias
(C) Accuracy of accountsare considered
(D) Redlity behind the statementsare not considered

57. Whatisratio?
(A) Theratioreferstothenumerical relationship between two variables
(B) Theratioisan assessment of onenumber inrelation to the other
(C) Noneof theabove
(D) Both(A)and(B)

58. Whichof thefollowing areprofitability ratios?

(A) DividendRatio (B) CurrentRatio

(C) LeverageRatio (D) ExpensesRétio
59. Whichof thefollowingisearningratio ?

(A) Payoutratio (B) Capital turnover

(C) Currentratio (D) Leverageratio

60. Whichof thefollowingisactivity ratio?

(A) Grossprofitratio (B) Earning per share
(C) Capitd turnover (D) Liquidityratio
61. TheEXIM Bank wasset upintheyear .
(A) 1972 (B) 1982
(C) 1985 (D) 1960
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Which of thefollowingisnot alending function of EXIM Bank ?

(A) Technology and consultancy services
(C) Refinancefacilitiesto Banks

Loansto commercia banksin Indiainclude:
(A) Exportbillsrediscounting scheme
(C) Bothof these

TheNew issuemarket isregulated by :
(A) FnanceMinigry
(C) Securitiesand ExchangeBoard of India

Underwritersmeans:
(A) Theyarewriters
(B) Sharebrokers

(B)
(D)

(B)
D)

(B)
®)

Loanstofarmers
All of theabove

Refinance of export credit
None of these

ResarveBank of India
Noneof theabove

(C) Who agreeto take up securitieswhich are not subscribed

(D) Noneof theabove

WhenwasLIC started ?
(A) 1976
(C) 1956

Which of thefollowingistrue?
(A) InsuranceAct 1887
(C) InsuranceAct 1938

Which of thefollowingistrue?
(A) IRDAAct 1999
(C) IRDA Act 1993

(B)
()

(B)
(®)

(B)
(D)

The*MRTPAcCt’ 1969 wasbrought into effect from:

(A) 1969
(C) 1970

MRTPAct extendsto whole country except :
(A) Nagdand
(C) Assam

Principleof * Span of Control’ isconcerned with:

(A) Classof employeesto becontrolled
(C) Managerid level of employees

E1J-49855-A

(B)
(D)

(B)
)

(B)
(D)

1986
1952

InsuranceAct 1974
InsuranceAct 1991

IRDA Act 1992
IRDA Act 1996

1958
None of these

Jammu & Kashmir
Tripura

Number of employeesto be controlled
Noneof these
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Span of management refersto:

(A) Activitiesperformed by amanager

(B) Number of subordinates supervised by amanager
(C) Number of superiorsamanager hasto report to
(D) Noneof theabove

Processof planning beginswith:

(A) Forecasting (B) Setting objectives
(C) Setingpalicies (D) Noneof theabove
MBOrrefersto:

(A) Management by objectives

(B) A techniqueof achieving organisationa gods
(C) Peformancereview

(D) Noneof theabove

Which among theseisnot afeature of decision making process?
(A) Persuasveness (B) Intdlectud
(C) Linefunction (D) Noneof these

Problemfinding processinvolves:

(A) Findingout thecompetitors

(B) Findingout adeviationfrom past experiences

(C) Findingout deviationfrom planned courseof action
(D) Noneof these

77. Thechief drawback of acommitteeorganisationis:
(A) Misuseof authority (B) Dividedresponghility
(C) Lackof participation (D) Noneof theabove
78. Motivationmeansto:
(A) Co-ordinate peopletowork united (B) Guidepeopletowork efficiently
(C) Induce peopletowork willingly (D) Control thework doneby the people
79. Who haspropounded the X andY theory of motivation ?
(A) McGregor (B) Vroom
(C) Herzberg (D) O'Donnd
80. Which of thefollowingisthefunction of aleader ?
(A) Representing (B) Integrating
(C) Guiding (D) All of these
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Communicationisan exchangeof :

(A) Information (B) Fedingsand gestures
(C) Ideasand opinions (D) All of theabove
Themain advantageof functiona organisationis:

(A) Smplicty (B) Specidisation

(C) Experience (D) Noneof these

Delegation of authority implies:

(A) Deegationof authority tolowest level of management
(B) Dedegationof respongibility

(C) Deegation of authority toimmediate subordinates
(D) Noneof theabove

84. Managementis:

(A) A Science (B) AnArt

(C) Ascienceaswell asArt (D) Noneof theabove
85. Whichamong theseisnot asub-function of directing ?

(A) Commeand (B) Mativation

(C) Control (D) Supervison
86. Objectivesstatethe:

(A) Dedindion (B) Routemap

(C) Mgorpalicies (D) Noneof these
87. Whointroduced the concept of MBO ?

(A) Mary Parker Follet (B) KeithDevice

(C) Peter Drucker (D) Noneof theabove
88. Which of thefollowing determineswhat todo ?

(A) APodlicy (B) Strategy

(C) Procedure (D) Objective
89. Strategic plansareformulated by the:

(A) Low level managers (B) Middlelevel managers

(C) Topleve managers (D) Noneof theabove
90. Chainof communicationintheorganisationisprovided by :

(A) Lineauthority (B) Staff authority

(C) Informd authority (D) Noneof theabove
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Thechief advantageof lineand staff organisationis:

(A) Quick decisons (B) Expertadvice

(C) Centrdisationof authority (D) Noneof theabove
Aninformal organisation:

(A) Isofficidly crested (B) Hasformal authority relationship
(C) Isaresult of interpersonal contacts (D) Noneof these

Need Hierarchy theory of motivationispropounded by :

(A) Madow (B) McGregor

(C) Herzberg (D) Noneof theabove
Theleadership stylewhichisbased on consultationswith hisgroupiscalled :
(A) Autocraticstyle (B) Democraticstyle
(C) Paterndidicgyle (D) Noneof theabove
The concept of Manageria Grid hasbeen propounded by :

(A) Black and Mouton (B) Likert

(C) FHedler (D) Noneof theabove

When aleader doesnot interferewith theworking of hisgroup, theleadership styleisknown
&s:

(A) Freereinstyle (B) Paticipativestyle

(C) Authoritariangtyle (D) Noneof theabove

Thetheory of leadership which believesthat effectiveleadershipisaresult of certain personal
qudities, isknownas:

(A) Trattheory (B) Follower theory

(C) Situationtheory (D) Noneof theabove
Ethicsmay bedefined as:

(A) A codeof conduct (B) A codeof material

(C) A codeof manager (D) Noneof theabove
Factor causing unethica conduct inbusinessis:

(A) Fair competition (B) Government policies
(C) Economicgreed (D) Increasingsocia vaues

100. Which causeisresponsiblefor ethical conduct of business?

(A) Consumerism (B) Increasing public awareness
(C) Buyersmarket (D) All of theabove
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101. Which of thefollowingisinvolvedin officemanagement ?
(A) Divisonof work (B) Recordkeeping
(C) Both(A)and(B) (D) Noneof theabove

102. What isimportance of plant layout ?
(A) Itensuresefficiency inofficework (B) Itimprovessupervison
(C) Itfacilitateseffectivecommunicationprocess (D) All of theabove

103. What arethe principlesof officelayout ?

(A) Principlesof effectivesupervison (B) Principleof moradeandloyaty
(C) Both(A)and(B) (D) Noneof theabove
104. Who defined about records management ?
(A) Henry Fayol (B) Rdfiningwell
(C) Rohinson (D) Both(B)and(C)

105. What arethe objectives of office automation ?
(A) Itdevelopsnecessary dataof management  (B) Toingtal computers
(C) Toingall automatic responsesystem (D) All of theabove

106. Communicationinvolves:
(A) A systematic and continuousprocessof telling (B) Listeningand understanding

(C) Both(A)and(B) (D) Noneof theabove
107. For effective communication in office management, we need, effective:

(A) Internet (B) WideAreaNetwork

(C) Internd Communication (D) Noneof theabove
108. Methodsfor officecommunication:

(A) Ord Communication (B) Written Communication

(C) Both(A)and(B) (D) Noneof theabove

109. What do Staffing functionsinclude?
(A) Sdection (B) Traning
(C) Development and appraisal of personnel (D) All of theabove

110. Importanceof officecommunication:

(A) Toimprovepublicimageof thefirm (B) Itessesofficesystemsand routines
(C) Both(A)and(B) (D) Noneof theabove
111. Every company shall have awholetime secretary, which hasapaid-up share capital of not lessthan:
(A) Rs.50lakhs (B) Rs.1crore
(C) Rs.2crores (D) Rs.25lakhs
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112. The personwith acapacity assecretary, who hel psthe promotersin carrying out al preliminary
work connected with function of company isreferred as:

(A) Genera Secretary (B) Protem Secretary
(C) Regular Secretary (D) Noneof these
113. A copy of the resol ution appointing aperson as secretary must beforwarded to Registrar of
Companieswithin :
(A) 20days (B) 30days
(C) 60days (D) 90days
114. The company secretary must servethe best interestsof :
(A) Promoters (B) Directors
(C) Debentureholders (D) Shareholders
115. Appointment and qualification of secretary rulescameintoforcein:
(A) December 1988 (B) June1988
(C) December 1995 (D) June1985
116. Company secretary may beacting as:
(A) Agentof directors (B) Liasonofficer
(C) Officeexecutive (D) Allof above
117. Statutory meeting of the shareholdersof apublic company isheld :
(A) Only onceduringthelifetime (B) Every2years
(C) EverySyears (D) Every 10years
118. Thenoticefor ageneral meeting of acompany must begiven at least beforethe meeting.
(A) 7days (B) 1l4days
(C) 21ldays (D) 30days
119. A specid resolutionisoneto passwhich thevotescast in favour must be:
(A) Twicethevotescast againgtit (B) Threetimesthevotescast againstit
(C) Three-fourth of thetotal votes cast (D) Onefifththevotescast againgt it
120. The Central Government haspower tocall :
(A) Anannud general meeting (B) A datutory mesting
(C) Anextraordinary meeting (D) Noneof these
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